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3. Pwdwudwt gnpénnniejniup ptww pybph pwqinipyniuncd:
Pwdwuniud wnwug duwgnpnh b duwgnpnny

Swujugws puwwu phy mpjwsd 7 puwjuu pyh pudwutihu unwg-
Jwo duwgnpnp 0;1; 2;...; n—1 pdtiphg dtlu E: DPw pwuwlnd L, np
jnipwpwiuginip puwluwis phy Yuptih B utipjuyuguty

ng,ng+1,nqg+2,...,nqg+(n-1)
wmtiuptiphg dtiyny, npuntin ¢g-u ny puguwuwuu wdpnne (0 Yud puwlw)
rhy E: Ophuwy, jnipwpwiginip puwlut phy upbjh b bpljuywguty

3g,3g+1,3g+2

wbtiuptiphg dtyny:
Cwdwudwunpb, jnipuwpwuginip puwuwu phy Junpth b ubpuywuguty

4k, 4k +1, 4k +2, 4k +3

wmbtiuptiphg dtiyny:

Cunniujws £ 2k mbiuph pytipu wujwuby qnuyq pytip (£=0,1,2,3,4,...),
huy 2k —1(k € N) mtiuph pytipp’ fhbp: 2nyg b Yhunm pdbph dhwdnpnidp
nspwgwuwluu wdpnne pYtph pwqunipniuu L:

Ophuwyutin.

w) 51-p 4k +3 wmbuph phy Lk, pwuh np 51=412+3 (k=12),

p) 76-n 12k +4 wbtiuph phy L, pwuh np 76=12-6+4 (k =6),

q) 5n 7k+5 wbtuph phy L, pwuh np 5=7-0+5 (k=0):




6? Cwipglin b wnwywnpwuputip

1. Ruwuji tinwth)y phy Yuw, npnughg jnipupwusinipp pudwiynid | U 7-h,
u 11-h:

2. Ruwufi inwth) phy Yw, npnughg jnipupwusinipp pwdwuymu b juid
7-h, ud 11-h:

3. 1-hg dhust 200 puwlwt pytiph dby pwifut tu 13-h pwdwubhu
wnwhu 5 duwgnpn:

4. Subtp pninp wyu tnwuhy pYtph pwuwyp, npnup 10-h pwdwubyhu
wnwhu tu 1 duwgnpn:

NusSWrtvuLer

1. 11: 8mignud: “tpwiup 77k wtiuph pytip Gu, npntin £=2,3,4,...,11,12 2. 198:
3. 16: Snignud: ‘tpwiup 13k +5 wmbuph pytp Gy, npntin £=0,1,2,3,...,14,15:
4.90: Snignud: “tpwup 10k +1 wbtiuph pytip Gu, npntin £=10,11,12, ...,98, 99:




